Final Exam - Tuesday, December 10t — Marcus 131 - 8:00-10:00 am
Sunday, December 8 — Review , 3:00-5:00pm — ISB 135
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 4

Calcium hydroxide is standardized by titration with 0.320 M solution of nitric acid.
If 38.5 mL of base are required to neutralize 23.4 mL of acid, what is the molarity

of the calcium hydroxide solution?

_Glod)yfap + 2MNOse]) = Ca(Nos)y + 2H:00

3%_.5m\- 0.3:10M}
M=7? 23.4 mL
#mo‘
M=V | #wmol = MYV (L) Ca(O\Da? M=

#med HNO; = 0.320 10,0234 = T.49X(6 nd!

_[.‘Hdeng? HNOB[‘ Galo g = 3.1'-}“63"\0?
|2 oy GaloR

rq =

g md Cn(O\ho,
N (L)

374 %1073
0.0385
0.0973
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mL of a 1.49 M hydrochioric acid soiution?

y, PRSP 3 } AR N JUP S 1
| AdSdUINICe Lrical Lrie vorurrnie rerricairid corisiLarit.

How many grams of solid barium hydroxide are needed to exactly neutralize 12.7 \
' i

_BaloH)y o + gﬂd?(eq) = Be@y + AW0OM

v 9 121 }
1.4AM
4ol MO = )49%0.0107 = 1.89010 mol | Balod)y : 13733+ 2 (16.0041.00)
.35 g md™ 0.3
1 mo¥
199016 ‘ol HeR |1 Belo)y _ 6110 Balok),
9 Hel 946316 d Baby (11353 - 1.62 g BaloH),

11 md

Slide - 192



4.5 Stoichiometry — Lab Owl — Review - Lab Owl 5

of 29.0 grams of water with excess chlorine gas?

How many grams of hydrochloric acid will be formed upon the complete reaction
Chlorine (g) + water (l) = hydrochloric acid (aq) + chloric acid (HCIO,)

3 Clag +3HO( = OSHREp) + HUAOs
_'QQJ)% 3.?

H20 = 2(1.0) + 1600 = 18.02 g o) HA © 101+ 3545 = 36.46g mol”
— 3,

aq.og‘ | ol _ 1,61 mod HaO 3?:\?
8.0 g

2.68 me? HCI 469 q".%a Hef
1 mol

L6lmd Hao| 5 HO _ 2,68 md HEP
| 3 Hyo
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